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Instructions for the Candidates :

1. T OMR STR U3d UR 39T U GREHT Al (10 3ihl BI) 3aey
fored |
Candidates must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.

2. Temeil JUrYT U el § 8 SR < |
Candidates are required to give answers in their own words as far

as practicable.

3. QIfe 3R BIRM W A gY 3ie gurie Mfde o 2 |

Figures in the right hand margin indicate full marks.

4. UHl P AFYAD Y & fo1g el &1 15 fAee &1 ifaRad wHa
o= T 2 |

15 minutes of extra time have been allotted for the candidates to

read the questions carefully.



g g GReDT & @usl H & — WUs—3 U4 EUs—4q |

This question booklet is divided into two sections — Section-A and
Section-B.

Gus—3 H 70 GRS YA ©, O 9§ Bl 35 UeAl &I IR oAl
AR 21 35 ULl W IMAd BT SR IF W UUH 35 BT T HeAIDA
BN Ud & fog 1 3fd FEiRd 1 391 SR o & fog Sudte
PV T OMR STR-936 # fau U 981 fddwed &I el /BTl dfcd UF
A WMe B | i W1 YR & gReR / R GG / s / ARG
e & OMR STR—UF® # TIRT &A1 A1 7, AT WA gRomd
AT BT |

In Section-A, there are 70 objective type questions, out of which

any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. For answering these darken the circle with blue /
black ball pen against the correct option on OMR Answer Sheet
provided to you. Do not use Whitener / liquid / blade / nail etc. on

OMR Answer sheet, otherwise the result will be treated invalid.

Gus—g ¥ 20 Y NI U © | UAB @ oY 2 3fd FeiRa 7, [
A B 10 el & IR o At B g% SifaRad s @Wue H 6
H SR U A W U@ B fow 5 i MuiRa 7 RH |
gl 3 UeAl BT IR <A1 AfYard 7|

In Section-B, there are 20 short answer type questions each
carrying 2 marks, out of which any 10 questions are to be

answered. Apart from these, there are 6 long answer type



questions, each carrying 5 marks, out of which any 3 questions are

to be answered.

8. fhdl UBR & Soldagi-id IUDHRYT HI YART YUIdAT Ifoid 3 |

Use of any electronic appliances is strictly prohibited.

¥rs — 3 / Section-A
g&gf~e ue / Objective Type Questions

g9 IIT 1 F 70 db P UAP Y b I IR fddpey fev v g 5949 9 s
AE T | AU gRT g Y Wel faded &I OMR 3fic W fafed x| &< 35 ueAi
BT IR < | 35x1=35

Question nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option on the OMR sheet. Answer any 35

questions. 35x1=35

1. NaCl & a1 % v Na" fdad Cl =1 9 forT <gdr g 7
(A)3 (B) 8
(C) 4 (D)6

In NaCl crystal, one Na" is surrounded by how many Chlorine ions ?

(A) 3 (B) 8
(C)4 (D) 6
2. U feIres $1 SIIfAfd gl & —
(A) FTTPR (B) Arfaretfes

(C) smiRRifae (D) ST



The geometry of match box is

(A) Cubic (B) Monoclinic

(C) Orthorhombic (D) Tetragonal

N et arel Aifa AT o srewas Rfdaal @ dwar gl 8 —

N

(A)3 (B) 2N

(C)N (D) 4N
The number of octahedral voids in close packing of N sphere is

N

(A) (B) 2N
(C)N (D) 4N

fFreforRad 4 b UeR & W H a1 & °9cd H B AR © ?

(A) Baa (B) whict

(C) wea (D) F~a==

Which of the following types of defects causes a decrease in density
of a crystal ?

(A) Frenkel (B) Schottky

(C) Interstitial (D) F-centre

f=feRad & &9 emest faeras s © ?

(A) C,HsOH & et (B) HNO; Td wief

(C) CHCI; 7@ CH;COCH; (D) CeHg Td CoHsCHs



Which of the following forms an ideal solution ?

(A) C,Hs0H and water (B) HNO3; and water
(C) CHCI; and CH3;COCH; (D) CsHe and CgH5CHj3
0.1 M H3PO, faeras &1 \amEm=ar &1 g ?

(A)O.5N (B) 0.1 N

(C)0.2N (D)0.3N

The normality of 0.1 M H3PO, solution is

(A)O.5N (B) 0.1 N

(C)0.2N (D)0.3 N

el O 91 & ST T g R dRar § —
(A) 9T &1 THfd W (B) Hleieh T Tepfd TR

(C) g @ 3703l &I H&A WR (D) 9IcT® & 3TRIT & F&T R

The colligative properties of dilute solution depends upon
(A) the nature of the solute
(B) the nature of the solvent

(C) the number of particles of solute

(D) the number of particles of solvent

25°C & foriferRad # fradr WRRel g9 Fe¥ S1fdra g ?
(A) CaCl, (B) KClI

(C) "It (D) g



10.

At 25°C, the osmotic pressure of which of the following would be

maximum ?
(A) CaCl, (B) KCI
(C) glucose (D) Urea

Th HIIS &I fOgd ORT &1 {69 el & a9 9l | yarzd &3 ) S.T.P.
R EIEQIo I & 3MAdd gad alal § —

(A) 22400 ml (B) 1120 mi

(C) 2240 ml (D) 11200 ml

On passing one faraday of electricity through a dilute solution of an
acid, the volume of hydrogen obtained at S.T.P. is

(A) 22400 ml (B) 1120 ml

(C) 2240 mi (D) 11200 mi

T g WR b4 fIgfd e ald BT HIeR dlcdided —

(A) e © (B) Trear ©

(C) ReR <& © (D) =4 9 ®Ig &l

On increasing dilution, the molar conductance of an electrolytic
solution

(A) increases (B) decreases

(C) remains constant (D) None of these



11.

12.

13.

TP Foders ®I AFG ATRITHR0T [a9a +0.763 V B | SHBI AFD JGHRV]
fayg & —
0.763

(A)2x0.763 V (B) — V
(C)-0.763V (D) sTH P13 &I
The standard oxidation potential of an electrode is +0.763 V. Its

standard reduction potential is

0.763

(A)2x0.763V (B) — \Y
(C)-0.763 V (D) None of these
Ao NaCl sRTsR BIaT 2

(A) ANa* (B) AC

ANat
ACI—

(C) ANa* + ACI (D)

Ao NaClis equal to

(A) ANa* (B) ACL

(C) ANa* + ACI" (D)2
fr=forRaa § & fgdas da 8 °?

(A) oaaTra e (B) o8 RSl de3
(C) Aigor At (D) 398 & I

Which of the following is a secondary cell ?

(A) Le clanche cell (B) Lead storage battery



14.

15.

16.

(C) Concentration cell (D) All of these
T arfaforar &1 a1 ReRie ik ovar g —

(A) T1I W (B) {1371 WX

(C) IR R (D) ¥9g R

The rate constant of a reaction depends upon

(A) temperature (B) mass

(C) weight (D) time

g hIfe &1 IAfhar & I ReRrid & shrs aidl & —

(A) FreT o™ (B) &y’

(C) <fio Hret o™ (D) et ' <fo | o

The unit of rate constant of a first order reaction is -

(A) mol.litre™ (B) time™

(C) L mol sec™ (D) mol™ L sec™

IR JAMWMBRD & IRMb ATGU DI U B (&A1 STl 8, a1 AAfhAT B
3G Mg 1 AT B AT B, AAhAT B BIfC & —

(A) @ (B) werH
(C) fedira (D) i
If the initial concentration of the reactant is doubled, time for half

reaction is also doubled, the order of reaction is

(A) zero (B) first



(C) second (D) third

17. UM Pife B fAfhar & forg ffaRad & o9 @& € 2

1 1 1

(A)t;aa (B)t; CZE

C)t aa (D)t a &

Which of the following is correct for a reaction of first order ?
1 1 1

(A)t;aa (B)t; CZE

C)t aa (D)t a &

18.  3IferNyor g8 TeAr § o8 P ugref

(A) TR T B FAE W ST B STl 2 |

(B) TeR wared @ Rivg & aray 1Y oed § |

(C) TR uaref & Foidi ¥ad £

(D) TER weref 1 sifefiad T oragd R |
Adsorption is the phenomenon in which a substance
(A) accumulates at the surface of the other substance
(B) goes into the body of the other substance

(C) remains close to the other substance

(D) oxidizes or reduces the other substance

19. SARP I8 U 2 o
(A) IFTheT & AT HIGUT &I 9TaT &

9



20.

21.

22.

(B) stfhar & |1 ReRid dI 99l <l ©

(C) ATRITARAT YT HR & FHY BT T <l ©

(D) 3rfAforar &I Foll UG HRaT B |

A catalyst is a substance which

(A) increases the equilibrium concentration of the product
(B) changes the equilibrium constant of the reaction

(C) shortens the time to reach equilibrium

(D) supplies energy to the reaction

ARBIIS BIAgs BT RAMIT BT HRUT BT & —
(A) FON BT STAITd BT (B) &1 BT 3MmalRra g+

(C) BNl & IS AMHR BT B (D) BT & BIC MHR BT B
The stability of Lyophobic colloids is due to
(A) Hydration of particles (B) Charge on particles

(C) Big size of particles (D) Small size of particles

e FET ST 81l 8 —

(A) TRNfbfere Preigs (B) emIf® Piciiss &
(C) Trrer & (D) ST &

Gold number is associated with

(A) Lyophilic colloid (B) Lyophobic colloid
(C) Emulsions (D) Gels

ABISS IAYWDI DI UTY: Alfad fHar Srar & —

10



23.

24.

(A) B Iqerrad fafer | (B) IR ¥

(C) o gy fafer | (D) ®ET §RT AAHRT A
Sulphide ores are generally concentrated by

(A) Froth floatation process (B) roasting

(C) Gravity separation process (D) reduction with carbon
frforRaa # fra a1q &1 fepdor sifea fmior Afyr grr gar € 2
(A) Zn (B) Ag

(C) Hg (D) Cu

Which of the following metals is extracted by complex formation

method ?

(A) Zn (B) Ag
(C) Hg (D) Cu
vers e A o1 SUART fHar S 2 —

(A) S=a dUsHA & foIg

(B) sra= €1 fagg arg ured @+ & forg

(C) fagrg sifavarse urd o & fory

(D) st fagrg Al Ui o= & forg

Zone refining method is used to obtain

(A) very high temperature (B) ultra pure metals

(C) ultra pure oxides (D) ultra pure Al

11



25. Qg @ FTSHYTT H S TqHel U BT §, 98 § —
(A) CO (B) FeSiO,
(C) MgSiO, (D) CaSiO,
During the extraction of iron, slag produced is
(A) CO (B) FeSiO,
(C) MgSiO; (D) CaSiOs
26. AISQIN & FfeiRad | $IF A1 eSS ATIHEDHI Bl § 7

(A) N.O (B) NO;
(C) N2Os (D) N2Os
Which of the following oxides of nitrogen is paramagnetic ?
(A) N.O (B) NO,
(C) N,Os (D) N2Os
27.  HNBIRA DI ARG g Bl & —
(A) =3 & +5 (B)—3 9 0
(C)o ¥ +5 (D) —4 ¥ +2
The oxidation states of phosphorus is
(A)-3to +5 (B)-3to 0
(C)Oto +5 (D) -4 to +2
28. fa=folRad & P19 sifags 999 31fdd iy © 2

(A) P2Os (B) N2Os

12



29.

30.

31.

(C) Sb,0s (D) As,0s5
Which of the following oxides is the most acidic ?
(A) P,Os (B) N2Os

(C) Sb,0s (D) As,0s5
BTG 37 AT W SIWIhIT B I7dT & —

(A) CO (B) CO,

(C) SO, (D) SO;

Formic acid reacts with conc. H,SO, to form

(A) CO (B) CO,

(C) SO, (D) SOs
HHR & 3N Bl &

(A) fgurHTfoas (B) TRanfOa®
(C) famfoasm (D) srafoga

Sulphur molecule is

(A) diatomic (B) tetraatomic
(C) triatomic (D) octaatomic
Cu (z=29) T Soidei=id fa=ard BIam & —

(A) [Ar] 3d° 4s? (B) [Ar] 3d™° 45
(C) [Ar] 3d® 4s% 4p’ (D) [Ar] 3d"° 4s®
The electronic configuration of Cu(z=29) is

13



32.

33.

34.

35.

(A) [Ar] 3d° 4s? (B) [Ar] 3d™° 45

(C) [Ar] 3d® 4s? 4p’ (D) [Ar] 3d"° 4s?

AUTgS Tl & AHI Serdeii~id [y 8 & —

(A) (n-2)f""* (n-1)s*p°d" 'ns (B) (n-2)f"*(n-1)d> " ns*
(C) (n-2)f"™ (n-1)d"" ns* (D) (n-2)d*'(n-1)f"* ns’
The general electronic configuration of lanthanide elements is
(A) (n-2)f"™* (n-1)s*p°d" 'ns” (B) (n-2)f""*(n-1)d> "' ns*
(C) (n-2)f"™ (n-1)d"" ns* (D) (n-2)d*'(n-1)f*"* ns’
f=ferRad § o9 Yfdearss 78l & ?

(A) FIRTH (B) feTIt-iaq
(C) T (D) efdm
Which of the following is not an actinide ?

(A) Curium (B) Californium
(C) Uranium (D) Terbium

Fe=ferRad H @19 ufcrgaag € ?

(A) Cr** (B) V¥

(C) Sc™ (D) Ti**
Which of the following is diamagnetic ?

(A) Cr** (B) V¥

(C) Sc** (D) Ti**
Fe®* (z=26) ¥ sgfvd golaeHl @ d&r § —

14




36.

37.

38.

(A) 4 (B) 5
(C)e (D)3

The number of unpaired electrons in Fe?* (z=26) is
(A) 4 (B) 5

(C)e (D)3
Ka[Fe(CN)g] & Fe @l sifeifiaxor dwar & —

(A) 6 (B) 4

(C)3 (D) 2

The oxidation number of Fe in K3[Fe(CN)g] is

(A) 6 (B) 4
(C)3 (D) 2

a1 fofioe € —

(A) faw s (B) i s

(C) Seri= (D) s & BIg el

All ligands are
(A) Lewis acids (B) Lewis bases
(C) Neutral (D) None of these

Sfeet 3 [Ni(CN),J? &) e & —

(A) To Ra® (B) TdhIbI

15



39.

40.

41.

(C) @t deirg (D) STCHABT

The structure of [Ni(CN),]* is

(A) Linear (B) Tetrahedral
(C) Square planar (D) Octahedral
faerd= B-12 % w&ar © —

(A) PraTee (B) =iy
(C) =irer (D) M@

Vitamin B-12 contains

(A) Cobalt (B) Magnesium
(C) Iron (D) Nickel
fFreforRaa & fhaer 3= fggdia smgoef g 2

(A) CH5CI (B) CHCl3

(C) CHI; (D) CCl,
Which of the following has zero dipole moment ?
(A) CH3CI (B) CHCI3

(C) CHI; (D) CCl,4
f=feRaa & @19 o Ssgags © 7

(A) CH3CHBr2 (B) CHQBr_CHQBr

(C) CH-3CHBFCHQBF (D) CH3CHB|’CH2CHQBF

Which of the following is a gemdihalide ?

16



42.

43.

44,

(A) CH;CHBr, (B) CH,Br'CH,Br

(C) CH3;CHBrCH,Br (D) CH3CHBrCH,CH,Br
fFrfeRad # fHed FARIBH aaT & 2

(A) HHTa (B) #era

(C) urH—1—3ffe (D) W=—2—3ifa

From which of the following, chloroform is formed ?

(A) Methanol (B) Methanal

(C) Propan-1-ol (D) propan-2-ol

ufodhol Bollse &l SYANT F=forlRad & fod a9 & a1 2 2

(A) Qe (B) T

(C) Yemrglcl (D) T & il

Alkyl halides are used for the preparation of which of the following ?
(A) Alkane (B) Alkene

(C) Alcohol (D) all of these

f=feIRad & & Tahvesd) Uchlaidd bl Slid &rar g 7

(A) —CH,OH (B) =CHOH

(C)=C-OH (D) =C-CZ
|
OH OH

Which of the following represents secondary alcohol ?

17



45.

46.

47.

(A) -CH,OH (B) =CHOH

(C)=C-OH (D) =C-CcZ
oH O

3FIST Uehlelel F=IfeiiRad # fhdedr Mg =M © 2

(A) TR VodpTelet (B) gforet Tewprefer

(C) At (D) s & ®1g =&

Grain alcohol is the common name of which of the following ?

(A) Amyl alcohol (B) Ethyl alcohol

(C) Methanol (D) None of these

Rrre aifrede & sififrar o= fm=faRad § &4 Vedba g1 Adar © 7

(A) CH3CH,OH (B) CH;CHO
(C) CHsCOCH; (D) HCHO

Which of the following forms alkane on reaction with Grignard

reagent?

(A) CH;CH,OH (B) CH;CHO
(C) CH3;COCH; (D) HCHO
rfafehar

Pd/BaSo0,

RCOCI + H, ——— RCHO + HCI &1 @& & —
(A) BFTomT sifafsar (B) Trorgs arfafepan
(C) EaTeT™ rfafepar (D) Ferii=a arffran

18



48.

49.

50.

The reaction

Pd/BaS0, )
RCOCI + Hp ——— RCHO + HCl is called

(A) Cannizzaro’s reaction (B) Rosenmund’s reaction
(C) Haloform reaction (D) Clemmensen’s reaction
UfeSEgS @ SRAHIUT | U BT & —

(A) T Ucohigicl (B) Ta Wfier=

(C) TP 2R (D) &b v

An aldehyde on oxidation gives

(A) an alcohol (B) an acetone

(C) an ether (D) an acid

f=ferRad # @9 dfaoRr sifafhar =8 <ar 2 ?

(A) TEHfa Vilefesergs (B) Wiicfeserss

(C) dufeserss (D) wrifeseds

Which of the following doesn’t give cannizzaro’s reaction ?

(A) Trimethyl acetaldehyde (B) Acetaldehyde

(C) Bengaldehyde (D) Formaldehyde

Wi Fr=faRad # | g siaftrar s/ 3 v W a1 & ?
(A) Vefeserss (B) wrifeseEs

(C) T¥iieT (D) fpifat

19



51.

52.

53.

Urotropine is formed by the reaction of ammonia with which of the

following ?
(A) Acetaldehyde (B) Formaldehyde
(C) Acetone (D) Phenol

f=feRaa @ @19 A1 g3 $¥e) B I AT © °
(A) RCOOH (B) RCOOR
(C) RCOR (D) ROR

Which of the following formula represents an ester ?

(A) RCOOH (B) RCOOR
(C) RCOR (D) ROR
BTG T UG Brfesalss &I AHfRad § fdas grT fave fdar <

JhdT & ?
GVEISEACIE (B) Sfei 1 aietie
(C) wafe Hret (D) NaHCO,

Formic acid and Formaldehyde can be distinguished by which of the

following ?
(A) Benedict’s solution (B) Tollen’s reagent
(C) Fehling’s solution (D) NaHCO3

faforRad # o a9 Fdol orF T & ?

20



54.

55.

(A) CH;COOH (B) CICH,COOH

(C) Cl,CHCOOH (D) ClC.COOH

Which of the following is the strongest acid ?

(A) CH;COOH (B) CICH,COOH

(C) CI,CHCOOH (D) CI;C.COOH
f=feRad @ @19 A9d AHRS & ?

(A) TITIEd 37 (B) d5ig® 3t

(C) AIS® 3T (D) FARUHIRS 3
Which of the following is a strong reducing agent ?

(A) Ethanoic acid (B) Benzoic acid

(C) Methanoic acid (D) Chloroacetic acid

fFrfeRaa # s g1 wEifddaford el B HIE UIgAYl Uedhlaid H
3raqa faam ST AT 7 ?

(A) LiAIH, (B) Na+C,HsOH

(C) NaBH, (D) Ha

By which of the following carboxylic acids can be directly recuced into
alcohol ?

(A) LiAIH, (B) Na+C,HsOH

(C) NaBH, (D) H,

21



56. fer=forRad o oI Adbvss WHH B ?

(A) R - NH; (BIR-N-R
|
R

(C) R.AIX (D)R—NH -R

Which of the following is a secondary amine ?

(A) R - NH, (B)R—l|\l—R
R
(C) RyNX (D)R-NH-R
57. A SAAIC &I V] JF & —
(A) CHsNCO (B) CHsCNO
(C) CHsNCS (D) CHsCN

The molecular formula of methylisocyanate is

(A) CH3NCO (B) CHsCNO
(C) CHsNCS (D) CHsCN
58. frfeiRaa # fvds STeM | WISHRI VA 99T & 2
(A) TSR CINEERIREIES
(C) vargS (D) Vfepet SAEAAITES

Which of the following gives primary amine on hydrolysis ?
(A) Nitroparaffin (B) Alkylcyanide

(C) Amide (D) Alkyl isocyanide

22



50. UMM H AGCIOM URATY] & YHBIUT § —
(A) sp (B) sp”
(C) sp° (D) dsp”
The hybridization of nitrogen in amines is
(A) sp (B) sp”

(C) sp’ (D) dsp”

60. GHIF & S H UK Bl & —
(A) Ri® Tere (B) Tegerer T Tetaer
(C) "I TG e (D) @I Td Aaerd

Sucrose on hydrolysis gives

(A) Only glucose (B) Glucose and Glactose

(C) Glucose and Fructose (D) Glucose and Lactose
61. UWDIaDH 3Fd © —

(A) Us faerfs (B) T gSiIeH

(C) v HIeH (D) v YA ot

Ascorbic acid is

(A) a vitamin (B) an enzyme

(C) a protein (D) an amino acid
62. fHfeIRad & &9 W & MRS aR= T geIiar g ?

(A) RNA (B) DNA

23



(C) uréH (D) sM=

Which of the following is responsible for the heredity character of

cell?
(A) RNA (B) DNA
(C) Protein (D) Harmones
63. WA T —
(A) PrafeTgST (B) 2R
(C) o<1 3Tl & oIqul (D) T & P 21
Soaps are
(A) Carbohydrates (B) Ethers
(C) Salts of fatty acids (D) None of these

64. frHfoIRad & &9 UIdfd® d8ad © 7

(A) arEH (B) diferei=
(C) =T (D) dabetze
Which of the following is a natural polymer ?

(A) Protein (B) Polythene
(C) Buna-S (D) Bakelite

65. WEIGAD BT QTSN & —
(A) TIATT—6

(B) FIei<—6, 6

24



66.

67.

68.

(C) dteh afdrer #f¥rel Threie( PMMA)
(D) diforefi=

An example of copolymer is

(A) Nylon-6

(B) Nylon-6, 6

(C) Poly methyl methyl acrylate (PMMA)

(D) Polythene

AEAT IEATHRUT BT IATG &

(A) diferei= (B) dio dio %o

(C) eueif= (D) I8, 6

A product of condensation polymer is

(A) Polythene (B) PVC

(C) Teflon (D) Nylon-6, 6
fereaferiae & forstept ST UEuRRies & w9 # Bidl § 7
(A) TRTRETH e G ESKEEE

(C) TIRTABAIDI (D) LSD

Which of the following is used as an antipyretic ?

(A) Paracetamol (B) Chloroquine

(C) Chloramphenicol (D) LSD
CHIBIEE @ soltol @ fory fid USHmEIfed &I IUANET &1l & —

25



(A) U=ATel e (B) TIRUAG Ml

(C) SgrTEE (D) HetpreTSiT

An antibiotic used for the treatment of typhoid is

(A) Pencillin (B) Chloramphenicol

(C) Tetramycin (D) Sulphadiazine
69. WUl Bed H ol favel i Mael o, 98 § —

(A) N2 (B) CH;NCO
(C) CH;CN (D) CO,
The poisonous gas evolved in Bhopal tragedy is -
(A) N2 (B) CHsNCO
(C) CH;CN (D) CO,
70.  THRE T —
(A) FIRTISHT (B) 3. 1. <.
(ESEEESIESINES (D) T & P 21

Gammexane is

(A) Chlorobenzene (B) DDT

(C) Benzene hexachloride (D) None of these
Yuvs—d / Section-B

g I 929/ Short Answer Type Questions.

Ue AT 1 Y 20 oY IR B | fhl 10 YAl & SR < | AP & oY 2 3
FRIRa = 10x2=20
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Question Nos 1 to 20 are Short Answer Type. Answer any 10 questions.

Each question carries 2 marks. 10x2=20

1. oS O/ &A1 © ? & IQTeRT « | 2
What are metallic solids ? Give two examples.

2.  Thd QY R B ? SN0 b A1 IRAT P | 2

What are Frankel defects ? Explain with examples.

3. RN g9 fod ded © ? 2
What are isotonic solutions ?
4. fIorE & A= UEH T § ? IAREV G | 2

What are colligative properties of a solution ? Give examples.

5. ATeTdhed Td Al dToTdhed Bl TR DY | 2

Define conductance and molar conductance.
6. WIS & fagla—fawwed Hadl vem | &l ford | 2

Write Faraday’s first law of electrolysis.

7. UGTTSH SORG T © ° 2

What are enzyme catalysts ?

8. USARHT RS a7 T ? 2
What are surfactants ?
9.  dI4T & &I 3TIWhI & AW Ud g ford | 2

Write names and formulae of two ores of copper.

27



10.

11.

12.

13.

14.

15.

16.

17.

18.

WISl T 30%h H 3} < P | 2
Differentiate between ores and minerals.

FARI DI SR dEal TR A Afd Bl g | |t ? 2

Electron affinity of chlorine is greater than that of Fluorine. Why ?

eollol ded Udd SfeR{ldRS Bid & | i ? 2

Halogen elements are strong oxidizing agents. Why ?
ScTalol | 39 9T FASK & ? QI IQER § | 2

What do you understand by interhalogens ? Give two examples.

XeF, &1 GRIAT BT Seoikg PN | 2
Discuss the structure of XeF».

f—=ifp & g 9T & ? o Ig AW I QI T B ? 2
What are f-block elements ? Why are they called so ?

Cu(l) ufigaara g STafd Cu(ll) STgadd & | ARAT 6 | 2

Cu(l) is diamagnetic where as Cu(ll) is paramagnetic. Explain.
fr=forRad & IUPAC M ford | 2
(i) [CO(NH3;)sCIICI; (ii) K3[Cr(C204)5]

Write IUPAC names of the following

(i) [CO(NH3;)sCIICI; (ii) K3[Cr(C204)5]

TR ST & faf= 3ragd | 8§ ? 2

What are different constituents of tincture iodine?
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19. SARCHR HT B ? UThidd SARCHR BT Udh IaTex | 2
What are elastomer ? Give one example of natural elastomer.
20. HEEIERC HI YRYET 9qg | 2

Define carbohydrates.

<" IR U/ Long Answer Type Questions.

oq T 21 9 26 oY ST 2 | fhsl 3 U3 & SR < | UAD & folU 5 3fh
fRetRa 21 3x5=15

Question Nos 21 to 26 are Long Answer Type. Answer any 3 questions.

Each question carries 5 marks. 3x5=15
21.  fa=feaRed difrel & dvees 93 fow | 1x5=5
(A) TGt (B) =l sgfeet e
(C) N- TRrereeamTe= (D) N, N — SrgaforememmT=

(E) N- TRears e A

Write structural formula of following compounds
(A) 2-Aminoethanol

(B) Tertiary butylamine

(C) N-Ethyl ethanamine

(D) N, N Dimethyl methanamine

(E) N-Ethylcyclopentanamine
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22, f=forRed R e fowof forgd | 2x2§=5

(A) HVZ arfwfdean (B) B®AM SHUATSS AMATHAT
Write short notes on the following.
(A) HVZ reaction

(B) Hoffmann Bromamide reaction

23. T BT & o9 2x2%=5

(i) prAfeTcserss MIfar | srfafehar o=ar © 7

(i) DARTH BHC B DA VHICe & AT 79 fhar Sar § 2
What happens when

(i) Formaldehyde reacts with ammonia ?

(ii) Calcium formate is heated with calcium acetate ?

24, fa=forRad gRads &9 @AY ? 2x2§=5

(i) Tfeel= 31 Uferel Ueeprarel

(i) TRre Yot & SRUfdE $oR

How would you bring about the following conversions ?
(i) Acetylene to ethyl alcohol

(i) Ethyl alcohol to diethyl ether

25.  IUPAC UvTefl & Jif9R frefeiRad & g3 ford | 1x5=5
(i) TRANHA wifed (IV) FARTSS
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26.

(ii) cgarrsrague (11) 3
(iii) AfeTd STsArATSRING (1)
(iv) qeRIA cgrssaisiae (1)

(V) reRIA SRS (1)

Write formula of the following as per IUPAC system.

(i)  Hexaamineplatinum (1V) chloride

(i)  Tetrabromidocuprate (ll) ion

(i)  Sodium dicynidoaurate (1)

(iv) Potassium tetrahyrxozincate (IlI)

(v) Potassium dicyanoargentate (l)

(i) v ®ife & IAforar | M9 Fa1 FHsT 87 |7 SETEN o | 2
(i) T PIfe & Afhar & a7 ReRid & oIy v Uy & | 3
(i) What do you mean by first order reaction ? Give two examples.

(ii) Obtain an expression for rate constant of a first order reaction.
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